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TrigonometryExercised4 for No.9844

2
A
[ Tan(60°) — Tan(15° 2 | P
;- —Lan(60) - Tan(15 ) 2=1-2Sin(22.5°) v
1 + Tan(60°) Tan(15°) S
[ 7n T ek n R P . 0 o i a0y Qi 100 LLs]]
']:Sin(zj .2=Cos(15%) .3 =Sin| —/— ” Cos| — 12 + Cos| I Sin| 12 .4 =Cos(20") Cos(10”) - Sin(20”) Sin(10”) &
5n n sn M
.3:Tan(1—J 4=Csc((-165)°) ¥ Tan| "+ Tan| = a
Nol = o | No2 = .5=2COS(E] -1 6= - . i , ¢
.5:Sec( J .6=Cot((-105)") l—Tan(—j Tan(—j h
12 9 36 @
23 0 : ’
.7:sm( 12") 8=Tan((-15)°) g2t .8:(;0{3) _sm[ij M
L i o 8 8 U
1 —Tan(15%) T
el sl ol ) | 2
.9=Cos Cos| + Sin| — | Sin| — .10=2 Sin(15°) Cos(15°) )
L 9 18 9 18 | (
2
L
- [ 3n} i [ [ 3n n } ]
A:O,B— ,C=mn,D= A=—B 2n,C=—",D=mn
2 2 2
et cmr- -2 (-2 -]
Condl =| Cos(a) =7 |, Cond2 =| Sin(B) =" Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = 9 8 . Nod= 3 2
.1 =Sin(a) .2=Cos(B) 1=Cos(a) .2=Sin(P)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(a) 4=Sin(f-a)
S5=Cos(aa+fB) .6=Tan(a—B) S5=Cos(aa—B) .6=Tan(a+ )
L .7=Cos(2 o) 8=Tan(2B) ] L .7=Cos(2 o) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(80°) = 0.174), Question = Cos(40°)], ,| U
T
M
No6 = [ Cond = (Cos(46°) = 0.695), Question = Sin(23°)], ,| U
T
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TrigonometryExercise4 for No.9872

2
i
P
14
o) oli)ulz) () S
_ _ .1 =Sin| — |Cos| 7 |- Cos| —— | Sin| 7 2=1-2Sin| — LLS ]
51 o 18 18 18 18 12 %
-’:COS[E] -2=8in(157) .3=Cos(20°) Cos(25°) — Sin(20°) Sin(25°) 4=2Sin(15°) Cos(15°) s
(7_711) ( 23 TE) ki : (r g 02 a
Nol = .3 =Tan| ” .4 =Tan| - 12 )| Noz2= .5=Cos| 3 — Sin| g .6=2Cos(22.5%) -1 /
S =Sin((-195)°) 6= Sec(3457) 7= Sin(ij Cos(lj + Cos(lj Sin[ij 8= Cos(s—nj Cos(l) + Sin(s—nj Sin(lj ;
[ 17nj . ST 9 18 9) T 9 18 9 18 @
.7=Cos| — .8=Csc((-165)) M
L 12 J 2 Tan(22.5%) B Tan(10°) + Tan(50°) U
| ' 1—Tan(22.5°)2 1 — Tan(10°) Tan(50°) 7]
)
o
2
L
[ [ b b1 } i [ [ 3n 375}
A=0,B=— C=—D=n A=—B=2n,C=n,D="
2 2 2 2
[onar={ =3 cmar=(sop <3| coma=[smer ) conz = coup =3
Condl =| Cos(a) =" |, Cond2 =| Sin(B) =7 Condl =| Sin(at) =— |, Cond2 =| Cos() ="
No3 = 9 3 . Nod = 5 9
.1 =Sin(a) 2= Cos(p) .1 =Cos(a) 2=Sin(B)
.3=Tan(pB) 4 =Sin(a - B) 3 =Tan(P) 4 =Sin(a +B)
S=Cos(aa+fB) .6=Tan(f—a) S=Cos(p—-a) .6=Tan(a—p)
L .7=Sin(2 B) .§=Tan(2 a) ] L .7=Cos(2B) .8=Tan(2 a) ]
M
No5 =[ Cond = (Cos(56°) = 0.559), Question = Sin(28°)], ,| U
T
M
No6 =[ Cond = (Cos(18°) = 0.951), Question = Cos(9°)], ,| U
T
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TrigonometryExercise4 for No.9873

s
12

T
3=Tan(15°) 4= Cos(— —J
12

1=Cos(75°) 2= sm[—)

.1 =Cos(65°) Cos(20°) + Sin(65°) Sin(20°) .2= Sin(—J Cos(—j + COS(LJ Sin(—)

.3 =Cos(40°) Cos(20°) — Sin(40°) Sin(20°)

.5=2Sin(15%) Cos(15°)

Tan| — |+ Tan| —
9 36

Nol = 3N02: —
5=Sin((-285)°) .6 = Sec(345° - n Sn
A it el
.7:C0t(— 12 J :Csc( 2 ] .
L - 2 Tan| —
12
9= 5
b
1 — Tan| —]
| 12
_ . _ _
[AzO,B——,C:—,D:ZTC:'
2 2
1 . -5
[Cond[ = (Cos((x) :—), Cond?2 = (Sm(ﬁ) :_H
No3 = 3 7 > 5N04:
.1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a - )
S=Cos(p—a) .6=Tan(a+ )
L .7=Cos(2 a) .8=Tan(2 B) i L
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No5 = [ Cond = (Cos(42°) = 0.743), Question = Sin(21°)],

No6 = [ Cond = (Cos(62°) = 0.469), Question = Cos(31°)],

[ Condl = (COS(OL) = ;lj Cond2 = (sm( B)= %H

b4 5w 5w
36 36 36 36

.4 =Sin(85°) Cos(25°) — Cos(85°) Sin(25°)

i 2
6=2 Cos(—j -1
12

2 2
b (m

.8=Cos| — | —Sin| —
8 8

2
10=1-2 Sin(22.5%)

i 37 i
A=",B=n,C=n,D=—""
2 2

.1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a + )
S=Cos(p-a) .6=Tan(a—p)
.7=Sin(2 o) .8=Tan(2 B) ]
M
U
T
M
U
T
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TrigonometryExercised4 for No.9884

2
i
P
Tan(10°) + Tan(20°) (= n 4
1= .2=2Sin| — |Cos| S
B} 1 — Tan(10°) Tan(20°) 12 12 <
T 2 Lo 1l
J:Sin(;] .2=Cos(15%) .3=Cos(110°) Cos(20°) + Sin(110°) Sin(20°) 4=1-2Sin(15°) &
(1= T i) (= (= 47 n) (4= Inval
Sn Tn .5 =Sin Cos| — |- Cos Sin| — | .6=Sin| — | Cos| —— |+ Cos| — | Sin| —
.3 =Tan| E .4 =Sec —E 36 18 36 18 15 15 15 15 a
Nol = 197\ | No2 = T [1775] . [5_n] . t
5= Cse((-15)°) 6:Cos(— 12] ,__2Tan(22.5") ™36 )" ™36 h
17n . 1—Tan(22.5°)2 . 1+T n T o %
.7=Tan((-255)°) .8=Cof M 36 ) M 36
L 12 )] 5 5 U
0.2 T S LL T J]
.9=2Cos(22.5") -1 AIOZCOS(_J —Sln(—)
L 8 8 ] )
o
)
L
T 3n T 3w
[A:O,B——,C:—,D:Zn} [A:—,B:R,C:R,D:—}
2 2 2 2
4 . -5 -3 . -2
Condl =| Cos(at) =7 |, Cond2 =| Sin(B)="" Condl =| Cos(at) =—"|, Cond2 =| Sin(B) ="
No3 = 9 91 Nod= 7 3
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a - ) 3 =Tan(P) .4 =Sin(a + )
S=Cos(p—a) .6=Tan(a+ ) S=Cos(p-a) .6=Tan(a—p)
L .7=Cos(2B) .8§=Tan(2 o) ] L .7=Cos(2B) .8=Tan(2 o) J
M
No5 = [ Cond = (Cos(14°) = 0.970), Question = Sin(7°)], ,| U
T
M
No6 = [ Cond = (Cos(86°) = 0.070), Question = Cos(43°)], ,| U
T
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TrigonometryExercise4 for No.9885

)
i
_ ) P
2 2
.1 =Cos(70°) Cos(10°) + Sin(70°) Sin( 10°) .2=Cos(15°) - Sin(15°) 4
2 S
_ - T
57 .3=2Sin(22.5%) Cos(22.5°) 4=1-2 Sin[—J LLS 1]
.1 =Cos(105%) .2=Sin| — 8 &
” (2] )
s Tan| — Tan| — o o
.3:Tan(gj .4 =Sec((-345)°) B 60 15 5o Tan(40”) + Tan(20") a
= = T T o o t
Nol 17 [ 13a [ N2 1+Tan(19n)Tan[ij 1 — Tan(40°) Tan(20°) . !
.5 =Cos| — .6 = Sin| — 60 15
12 12 @
19n 7 =Sin(25°) Cos(20°) + Cos(25°) Sin(20°) .8 = Sin(7—nj Cos(lj - Cos[7—nj Sin(lj
.7 =Tan((-105)°) .8=Csc(——j v o 12 12 12 12 M
L 12 /] 2 U
2 Tan( 15°
g 2Ten3) .10:2C05[1j -1 LT
1 - Tan(15° 12 )
L an(157) | -
o
)
L
[ T 3n } [ 3n T }
A=0,B=—C="—"—D=2n A=n,B=—,C=—D=n
2 2 2 2
. 2 4 . -1 -2
Condl =| Sin(a.) =T |, Cond2 =| Cos(B) =T Condl =| Sin(at) =7 |, Cond2 =| Cos()=""
No3 = 7 T Noa= 2 3
.1 =Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(a+ ) 3=Tan(a) 4=Sin(f-a)
S=Cos(p—a) .6=Tan(a—B) S=Cos(aa—P) .6=Tan(a+p)
L .7=Sin(2 o) .8=Tan(2 ) ] L .7=Sin(2 B) 8=Tan(2 o) J
M
No5 = [ Cond = (Cos(56°) = 0.559), Question = Sin(28°)], ,| U
T
M
No6 = [ Cond = (Cos(34°) = 0.829), Question=Cos(17°)], ,| U
T
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TrigonometryExercise4 for No.9895

2
O
i o (¢} 2 ] P
;_ Tan(55 ) — Tan(10°) .2=2COS(£J . Vv
1 + Tan(55°) Tan(10°) S
b LL S 1]
-~ . _ 2 Tan 3 ‘ L2 &
.1 =Cos E .2=Sin(105°) = 4=1-2Sin(22.5%) M
3=Tan(75°)  .4=Cot(165%) - Tan(lj “
Nol = i 11\ p Vo2 = 8 . t
.5:Csc(— 5 ) 6:Cos(— ] __Tan(15%) + Tan(30%) .6:Cos(15°)2—Sin(15°)2 é
o R l—Tan(IS ) Tan(30°)
L.7=Sec((-285)°) .8=Tan(195°) | 5 . . M
,7:Sm(—] Cos( J Cos( jSln(—j 8= 2Sln( jCos[ ) U
18 9 12 12 T
.9:Cos( ch ( j Sin(iGJSm(z—n] .10 =Sin(12°) Cos(78°) + Cos(12°) Sin(78°) 2)
L - (
i
L
[ [ 37:} ] i [ T 3n } ]
A:O,B— ,C=m,D= A=—B=n,C=—"—D=2n
2 2 2
e} (-] a2} (o2
Condl =| Sin(a.) =~ |, Cond2 =| Cos(B) =" Condl =| Sin(a) == |, Cond2 =| Cos(B) ="
No3 = 5 20 No4= 5 9
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(P)
3 =Tan(P) 4 =Sin(a - B) 3 =Tan(P) .4 =Sin(a - )
S=Cos(aa+P) .6=Tan(f—-0a) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Sin(2 B) .8=Tan(2 a) ] L .7=Cos(2 a) .8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(74°) = 0.276), Question = Sin(37°)], ,| U
T
M
No6 =[ Cond = (Cos(46°) = 0.695), Question = Cos(23°)], ,| U
T
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TrigonometryExercise4 for No.9898

_ - A
(19 TCJ ( L ) (
Tan| —— |- Tan| — 2 S N
60 15 (nj P
= 2=2Cos| 77| -1
197 T 12 v
1 + Tan Tan| — S
- ~ 60 15
. o T T b LS
.1 =Sin(75%) .2 =Cos| E Tan| E + Tan Z &
g 23 .3 =Cos(42°) Cos(12°) + Sin(42°) Sin(12°) 4= - - M
.3 =Tan| 1 .4 =Cos 1 I_Tan(E) Tan(g] a
Nol = , No2 = , t
5=Cot((-285)°) .6=Tan T Y 0y2 T T h
e ha 12 .5 =Co0s(22.5") —Sin(22.5%) .6 =2 Sin| E Cos g @
13n
7= Csc(165°) .8:Sec(— j 2Tan(£j M
- 12 /] 12 (m 2 n) (2= U
="+ .8 =Sin| — | Cos| —— |+ Cos| — | Sin| —— L 71]
- 2 9 9 9 9
L 2)
l—Tan[ 12) =L
2 i
.9 =Sin(85%) Cos(25°) — Cos(85°) Sin(25°) .10=1-2Sin(15%) ] 2
L
T 3n T 3n
A=0,B=—C=n,D="—" A=—B=n,C=—"—D=2n
2 2 2 2
. 2 -3 . 1 5
Condl =| Sin(a.) =7 |, Cond2 =| Cos(B) =" Condl =| Sin(a) =T |, Cond2 =| Cos(B) =T
No3 = 3 81 Noa= 2 7
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(P)
3 =Tan(a) 4 =Sin(a - B) 3 =Tan(a) .4 =Sin(a - )
S=Cos(p—-a) .6=Tan(a+p) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Cos(2 a) .8§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(86°) = 0.070), Question = Sin(43°)], ,| U
T
M
No6 =[ Cond = (Cos(12°) = 0.978), Question = Cos(6°)], ,| U
T
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TrigonometryExercise4 for No.9899

_ 9 -
T T A T . T 02 P
A= Cos(—] COSL_] - Sln(—] Sln(—) .2=2Co0s(22.5") -1
10 15 10 15 14
2
_ _ .3=Sin(35°) Cos(5°) — Cos(35°) Sin(5°) 4=1-28in(15°) g
- LLS 1]
.I'=Cos(105°) .2:sm(—] tanl 2| Tan| & , , &
12 36 9 AN T
S1 5= .6=Cos| — | —Sin| —
3=Tan| ~——| .4=Csc((-345)°) 3n 2 8 8 a
12 1 + Tan| Tan|
Nol = , No2 = 36 9 A , t
23w 197
.5=Sec " .6=Cos " Tan[s—nj+Tan(iJ h
(= T 18 18 @
R 197 .7=2Sin| — | Cos| — 8= M
.7=Cot(165") .8=Tan| - 12 12 Sn T
L 12 /] 1 —Tan| — | Tan| — U
18 18 T
2 Tan(15°%) o o o o
=7 .10 =Sin(20”) Cos(70”) + Cos(20”) Sin(70") o
L 1 — Tan(15°) ] o(
)
L
b 3n T b
[A:O,B:—,C:—,D:Zn} [A:n,Bz—,C:—,Dzn}
2 2 2 2
) 5 2 -2 ) 1
Condl =| Sin(a.) == |, Cond2 =| Cos(B) == Condl =| Cos(at) =", Cond2 =| Sin(B) ==
No3 = 7 T3 No4= 5 2
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
.3=Tan(B) .4 =Sin(a - B) .3 =Tan(P) 4=Sin(f-a)
S=Cos(Bp—a) .6=Tan(a+f) S=Cos(aa+P) .6=Tan(a—P)
L .7=Cos(2 a) .8§=Tan(2 B) ] L .7=Cos(2 o) .§=Tan(2 B) ]
M
No5 =[ Cond = (Cos(16°)=0.961), Question = Cos(8°)], ,| U
T
M
No6 = [ Cond = (Cos(68°) = 0.375), Question = Sin(34°)], ,| U
T
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TrigonometryExercise4 for No.9920

2
r o (¢} ] __'.(__
I=1-2Sin(22.5%) 2o —an(55) - Tan(10) P
1 + Tan(55°) Tan(10°) 4
2 2 S
[ m 4n m) . (4m b (m
- _ .3:8111(—] Cos(—j+Cos(—J Sm(—j .4:Cos(—j —Sm(—j LLS 1]
. ) [nj 15 15 15 15 8 8 &
.1=Cos(75%) .2=Sin| — 2 g
12 .5=Sin(50°) Cos(20°) — Cos(50°) Sin(20°) .6=2Cos(15%) -1 M
3=T (7_“j 4=T ( 13_“) L 1= a
Nor=| 7T ™12 ) T 2 )| Ne2= n Ta"[lsJ*TanE ] RN
5=Cos((-285)°) .6=Sec((-165)°) 7= 251“[12JC°S(12J 8= h
1971 1—Tan£ ]Tan[ ) @
.7=C0t( j .8=Csc((-15)%) M
L 12 | T
2Tan(—] u
ool el 5ol ;
.9=_Cos Cos + Sin| Sin| 10
18 9 18 9 - :)
l—Tan[—j .
L 12 ] :(
)
L
[ [ 37:} ] i [ T 3n } ]
A:O,B— ,C=mn,D= A=—B=n,C=—"—D=2n
2 2 2
et [ -1]
Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=—" Condl =| Sin(a) =7 |, Cond2 =| Cos(B) =7
No3 = 7 5 ., Nod = 3 2
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(P)
.3 =Tan(P) .4 =Sin(a - B) 3 =Tan(P) 4=Sin(B-a)
S=Cos(au+P) .6=Tan(f—-0a) S5=Cos(aa+f) .6=Tan(a—)
L .7=Cos(2B) .8=Tan(2 a) ] L .7=Cos(2 a) .8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(24°) = 0.914), Question = Cos(12°)], ,| U
T
M
No6 = [ Cond = (Cos(84°) = 0.105), Question = Sin(42°)], ,| U
T
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TrigonometryExercise4 for No.10000

)
i
B 2 2 ] P
.1 =Cos(22.5°) — Sin(22.5°) .2=Cos(50°) Cos(20°) + Sin(50°) Sin(20°) v
3 =Cos(40°) Cos(20°) — Sin(40°) Sin(20°) .4 = Si (17EJC [lj C (17EJS' (lj 0
) ] . .3=Cos 0s in in .4 = Sin| 20 0s T 0s 20 in s "i'
'I:COS[_] -2=Sin(105%) Tan(10°) + Tan(20° Y e
12 _Lontl0)+ Tan(29) 6=1 —2Sin(—j M
5n 231 1 — Tan(10°) Tan(20°) 12 a
3=Tan| — .4 = Sec| — 5
Nol = 12 12 )|, No2= 2 Tan(15°%) n A
5=Cos((-165)°) .6=Sin((-105)°) 7= iy §=2Cos ) —1 h
T 1n 1 —Tan(15%) @
7=Csc| ——— .8 =Cot 137 T M
L 12 12 ) | Tan — Tan| —
o . 36 9 U
.9=2Sin(15") Cos(15) 0= T
131 P LL £
1 + Tan Tan| — )
L 36 9 ] A
o
2
L
b b3 3w 3w
[A:O,B:—,C:—,D:n} [A:R,B:—,C:—,D:2n}
2 2 2 2
4 . 1 -3 . -1
Condl =| Cos(a) =~ |, Cond2 =| Sin(B) =" Condl =| Cos(a) =", Cond2 =| Sin() ="
No3 = 5 SIU Noa= 5 2
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(p)
.3=Tan(pB) 4 =Sin(a - B) 3 =Tan(P) 4 =Sin(a - )
S=Cos(aa+fB) .6=Tan(f—a) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Sin(2 B) .8=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 o) |
M
No5 = [ Cond = (Cos(46°) = 0.695), Question = Cos(23°)], ,| U
T
M
No6 = [ Cond = (Cos(24°) = 0.914), Question = Sin(12°)], ,| U
T
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TrigonometryExercise4 for No.10017

2
I 2 Tan(15°) 2 2 1 i
l=—""" 5 .2=Cos(22.5°) —Sin(22.5%) P
1 — Tan(15°%) 14
: s
T
) . 3=2 COS(EJ -1 .4 =Sin(18°) Cos(12°) + Cos( 18°) Sin(12°) LS ]
Sn
.1 =Cos(105%) .2:sm(—) x 11 x &
12 Tan| — |+ Tan M
23n 5= = % 6=2 Sin(15°) Cos(15° a
3=Tan(15%) .4=C0t[ ] = i x :6=2Sin(157) Cos(157)
Nol = 12 ,N02: 1 = Tan| — | Tan| y 5 t
5=8in((-255)°) .6 =Sec(255°) 15 260 h
197w o L o o . oy o @
.7=Cos| — 12 .8=Csc((-75)") .7=1-2Sin E .8 =Cos(105”) Cos(15”) + Sin(105”) Sin(15%) M
L . U
Trn b
Tan(—j—Tan(—] LL T J]
18 18 b 2n (m)  (2m .
9= .10=Cos| —|Cos| — |- Sin| — | Sin| — l
K b 9 9 9 9 ]
1+ Tan| — | Tan| — :(
L 18 18 ] 2
L
T 3n 3w b
A=0,B=—C=n,D="—"— A=—B=2mnC=—D=n
2 2 2 2
. 4 -3 . -5 -5
[Cond[ = (Sm(a) = —j, Cond?2 = [COS(B) :—H [Cond] = (Sm(a) :—j, Cond?2 = [COS(B) :—H
No3 = ) 8/ No4 = 8 6
.1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
3 =Tan(a) 4 =Sin(a - B) 3 =Tan(P) .4 =Sin(a - )
S=Cos(p—a) .6=Tan(a+ ) S=Cos(p-a) .6=Tan(a+f)
L .7=Sin(2 o) .8=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 o) |
M
No5 = [ Cond = (Cos(40°) = 0.766), Question = Cos(20°)], ,| U
T
M
No6 = [ Cond = (Cos(82°) = 0.139), Question = Sin(41°)], ,| U
T
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TrigonometryExercise4 for No.10025

B 2
1 =1-28in(15°)
- - T :
o (7 .3:2Cos(—J—l
.1 =Cos(757) .2 = Sin| E 12
T T
o (1= TanE—J + Tanl—]
.3 =Tan(15") .4 =Sin ” 5= 12 6
Nol = 17 N No2=|" B T T
.5 =Cot((-285)°) 6:Sec(— 5 ] 1= Tan| 7o) Tan| "
. 19 1t 7= 2Tan(15°)
.7=Csc((-195)") .8=Tan T 2
L 12 )] 1 — Tan(15°%)
T T
9=2 Sin(—] Cos[—j
L 8 8

No3 =

[Page = 0012]

[Cond] = [Sin(q) :a Cond?2 = (COS( B) :?H

.1 =Cos(a) .2=Sin(PB)

.3=Tan(B) 4=Sin(f-a)
S=Cos(aa+B) .6=Tan(a—f)

.7=Sin(2 a) 8=Tan(2B)

No5 = [ Cond = (Cos(34°) = 0.829), Question = Cos(17°)], ,

No6 = [ Cond = (Cos(82°) = 0.139), Question = Sin(41°)], ,

, ,No4=

.2=Sin(80°) Cos(20°) — Cos(80°) Sin(20°)

2 2
4=Cos(22.5°) - Sin(22.5°)

Tan(42°) — Tan(12°%)
1 + Tan(42°) Tan(12°) )

11= b (11w} (=
8 ="Cos Cos| — |+ Sin Sin| —
18 9 18 9
Sn b (Sm) ([ =m
10 =Cos| — |Cos| 7 |—Sin| — | Sin| ——
18 18 18 18 /.

[ 3n 3n }
A=n,B=—",C=—",D=2n
2 2

[Cond] = (Sin((x) :;3} Cond?2 = (COS(B) :éﬂ
.1 =Cos(a) .2=Sin(p)
3 =Tan(P) 4=Sin(f-a)
S5=Cos(aa—B) .6=Tan(a+ )
L .7=Cos(2B) .8=Tan(2 o)
M
U
T
M
U
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TrigonometryExercise4 for No.10057

= 2= Cos(80°) Cos(20°) + Sin(80°) Sin(20°)
_ - n T LL S
5 — —_
.zzsn{l—) 2= Cos(15°) 1+Tan[3jTan[1zj T
2
T 171 3= Sin(40°) Cos(10°) — Cos(40°) Sin(10°) 4=2Cos(15°) — 1
3=Tan| — .4 =Csc| o
Nol = 12 , No2 = 2 Tan(22.5%) 2m ) (27| ,
) = 6= Sin| = | Cos| == | + Cos| — | Sin| —
5= Tan(34 °) 6= Cos((-255)°) |- Tan(22.5°) 9 9 9 9
7= Cot( ] 8 =Sec((-195)°) Y (x) _ 2
J .7:C0s§ —Slng .8=1-28in(22.5°)

ofs) el

.9=Cos(35°) Cos(10°) — Sin(35°) Sin(10°)

No3 =
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.1 =Sin(a) .2=Cos(PB) .1 =Sin(a) .2=Cos(PB)
3 =Tan(a) 4=Sin(a+B) 3 =Tan(a) 4 =Sin(a + )
S=Cos(p—a) .6=Tan(a—B) S=Cos(p-a) .6=Tan(a—p)
L .7=Sin(2 B) .8=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 o) J

M
No5 = [ Cond = (Cos(84°) = 0.105), Question = Cos(42°)], ,| U
T
M
No6 = [ Cond = (Cos(22°) = 0.927), Question = Sin(11°)], ,| U
T

|

[A:O,B— ,C=m,D=

3n}
2

Cond] = (COS( o) = %) Cond2 = (sm( B)= fﬂ

, No4 =

[ Condl

i
10=2 Sm( ] Cos[ J
12 12

[

2’
1

3n
:-— B=m, (7_—5_ D=2n

4
= (COS(OL) = ?) Cond? = (Sin(ﬁ) :%H
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TrigonometryExercise4 for No.10061

)
e
P
- - v
Tan(10°) + Tan(50°) R R . o R s
1= .2=Cos(35%) Cos(10”) — Sin(35”) Sin(10°)

-~ ~ 1 — Tan(10°) Tan(50°) LS ]
1 =Sin(15° 2-Cof 2L n Y n) &
AL=Sin(157) .2=Cos| T .3:1—25111(5] .4=2c°s(§] -1 ival
.3=Tan(105°) .4 =Tan((-285)°) T . T . R 5 a

Nol = 17n  No2 = .5:Sin(—J Cos(—)—Cos[—j Sin(—J .6=Cos(15°) —Sin(15° ! , ¢
¢ .5:00{ ] 6=Sin((-255)°) [ 18 18 18 18 (157) = Sin(15%) ,
12 o
. o . 2 Tan(15%)
rcod 1) g BT .7=2 Sin(22.5%) Cos(22.5°) S=— @
|-7=Cos - 8=Sed =) | | — Tan(15%) M
13n T (1B3r) (= Tan(35°) — Tan(5°) v
.9=Cos Cos| — |+ Sin Sin| — 0= LL 7]
L 36 9 36 9 1 + Tan(35°) Tan(5°) J 2
o
)
L
[ b1 T } [ 3w 3w }
A4=0,B=—,C=—D=n A=m,B=—C="—D=2x
2 2 2 2
4 . 1 , -1 5
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) == Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = 7 2700 No4= 2 9
1 =Sin(a) 2=Cos(B) 1 =Cos(a) .2=Sin(B)
.3=Tan(B) 4=Sin(f-a) 3=Tan(a) 4 =Sin(a - )
S=Cos(aa+B) .6=Tan(a—f) S=Cos(p—-a) .6=Tan(a+p)
L .7=Cos(2 B) .§=Tan(2 a) ] L .7=Sin(2 B) 8=Tan(2 a) ]
M
No5 = [ Cond = (Cos(74°) = 0.276), Question = Sin(37°)], ,| U
T
M
No6 =[ Cond = (Cos(12°) = 0.978), Question = Cos(6°)], ,| U
T
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TrigonometryExercise4 for No.10071

Nol =

.7 = Cot((-105)°)

No3 =
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.2=Sin(15%)
.4 =Cos(195°
os( ) , No2 =
( 2375)
6 = Tan| —
12
.8=Sin(165°) |
[ e
[A:O,B:—,
2

.1 =Cos(a)
3 =Tan(a)
5=Cos(a+B)
L .7=Cos(2 o)

No5 = [ Cond = (Cos(32°) = 0.848), Question = Sin( 16°)],

No6 = [ Cond = (Cos(56°) = 0.559), Question = Cos(28°)],

- _ _
C=—,D:n}
2

[Cond] = (Sin(a) = %j Cond?2 = [COS( B)= ;ﬂ

.1 = Sin(20°) Cos(40°) + Cos(20°) Sin(40°)

2
.3=1-28Sin(22.5°%)

.5=28in(15%) Cos(15°)

i 2
.7:2Cos(—J -1
12

, ,No4=
.2=Sin(pB)

4 =Sin(a - B)
LH=Tan(f—a)
8=Tan(2B)

|

[ Condl = (Sin(a) = ?2] Cond?2 = [COS( B)= ;4”

2 Tan(15°
,__2Tan(157)

2
1 —Tan(15°)

b b
Tan| — |+ Tan| —
12 6
4=
b i
1 —Tan| — | Tan| —
12 6

.6=Sin(72°) Cos(12°) — Cos(72°) Sin( 12°)

2 2
s (=

.8=Cos| — | —Sin| —
8 8

n n T T
9= Cos(g) COS(E] - Sin(g] Sin(g) .10 = Cos(35°) Cos(5°) + Sin(35°) Sin(5°)

37 37 i
=——,B=2n,C=n,D="""
2 2

A

.1 =Cos(a) .2=Sin(B)
3 =Tan(P) 4=Sin(f-a)
S5=Cos(aa+f) .6=Tan(a—)
.7=Cos(2B) .8=Tan(2 o) ]
M
U
T
M
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TrigonometryExercise4 for No.10088

Nol =

.1 =Sin(105°)

5w
3= Tan[—j
12

.5=Sin((-195)%)

2
12
19 1 .7 =Sin(20°) Cos(40°) + Cos(20°) Sin(40°) 8=2 COS[EJ -1
.7 =Tan((-75)°) 8—C0t[— ] &
L 12 /] 2 Tan(15°) T T REATEE:
== 5 .I()=Cos(3) COS[E]—SIH(E] Sln[ﬁ) L 7|
L 1 —Tan(15°) ]
[ { T 3n } i [ [ 3n T } i _ _
A4=0,B=—C=—,D=21 A=n,B=—,C=—D=n
2 2 2 2
[comar={ 1= comz = copr=] ]| o= [smar= ) cone = cospr=3
Condl =| Sin(at) = |, Cond2 =| Cos(B) =" Condl =| Sin(at) =— |, Cond2 =| Cos() ="
No3 = 4 I Noa= 5 5
.1 =Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3=Tan(a) 4=Sin(a +B)
S5=Cos(aa—fB) .6=Tan(a+ ) S=Cos(aa—P) .6=Tan(f—-0a)
L .7=Sin(2 o) .8=Tan(2 B) ] L .7=Cos(2 o) .§=Tan(2 B) ]
M
No5 =[ Cond = (Cos(34°) = 0.829), Question = Cos(17°)], ,| U
T
M
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, No2 =

I =Sin| — | Cos| — |- Cos| —— | Sin| —
18 9 18 9

Tan(25°) + Tan(20°)
1 - Tan(25°) Tan(20°)

2 2
.5=Cos(22.5°) - Sin(22.5°)

i i b
2= Cos[—j Cos(—] + Sin[—J Sin(
3 12 3

4=2Sin(15%) Cos(15°)

i 2
6=1-2 Sin(—J
12

No6 = [ Cond = (Cos(82°) = 0.139), Question = Sin(41°)], ,| U

T

Lj_
12
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TrigonometryExercise4 for No.10385

2
G
P
. th (5= I Sn) (= 4
1 =1-2Sin| — .2=Sin| — | Cos| —— [+ Cos| — | Sin| — S
8 36 9 36 9 g
i . (7)Y ] .3 =Cos(65°) Cos(20°) + Sin(65°) Sin(20°) .4 = Cos(18°) Cos(12°) — Sin(18°) Sin(12°) "&"
.1=Cos(15%) .2=Sin| —/— n - ) ooy
12 .5:25111[—) Cos —) 6=2Cos(22.5°) — 1 M
st (S_RJ . Ct[ l3n] 12 12 B
Nori=| 7" 12 ) TN 12 ) | Nez2= Tan(“_ﬂJ”anEl] R
_ o _ _ o 15 15 h
3 =Csc(2557) 6= Cos((-165)") 7= Sin(100°) Cos(10°) — Cos(100°) Sin( 10°) 8=
s [237:] § — Tan( 195° LT (4_“]T (L] @
7= ec| 2 .8 =Tan( )_ an s an| 15 A(/J[
02 02 2 Tan(22.5°)
.9=Cos(15%) —Sin(15°%) A0=—"""">3, LL T ]
i 1 — Tan(22.5°) i )
o
)
L
b 3n 3n b
A=0,B=—C=n,D="— A=—B=2mnC=—D=n
2 2 2 2
) 5 -2 1 . 1
Condl =| Sin(a.) =— |, Cond2 =| Cos(B)=—" Condl =| Cos(at) =7 |, Cond2 =| Sin(B) ="
No3 = 8 50 No4= 2 3
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(B)
.3=Tan(a) 4 =Sin(a - B) 3 =Tan(a) .4 =Sin(a - )
S=Cos(aa+P) .6=Tan(f—-0a) S=Cos(p-a) .6=Tan(a+p)
L .7=Cos(2 ) .§=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(58°) = 0.530), Question = Cos(29°)], ,| U
T
M
No6 = [ Cond = (Cos(20°) = 0.940), Question = Sin(10°)], ,| U
T
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TrigonometryExercise4 for No.10387

)
A
P
[ Tan(35°) — Tan(5°) 1 r
an — Tan
= .2=2Sin(22.5%) Cos(22.5°) S
r T 7 1 + Tan(35°) Tan(5°) L s ]
.1 =Sin| — .2=Cos(15° 2 2
m( 12] os(13) .3:Cos[£J—Sin(£J 4=1-28in(15%) f}
5 o i 177 8 8
3=Tan(757)  .4=Sin| —7 Tan(48°) + Tan(12°) 2 Tan(15°) a
Nol = 7\ bNo2= 5= - : = R
5= Cot(345°) .6:00{——) 1 - Tan(48") Tan(12") 1 - Tan(15°) h
12 2 @
117w _ JL, _ _ o oy Qs o : o
7= Cse((T5Y) .8:Tan[ L j 7=2 COS[lZJ 1 .8=Cos(25°) Cos(5°) — Sin(25°) Sin(5°) 1\(/5
- h (19w b1 9O} (= 27 T (2n)  (=m
.9 =Sin Cos| — | — Cos| Sinf — | .10=Cos| — |Cos| —— |+ Sin| — | Sin| = LLT 1]
L 60 15 60 15 5 15 5 15 /] B,
o
2
L
b1 T 3w 3w
[A:O,B:—,C:—,D:n} [A:R,B:—,C:—,D:Zn}
2 2 2 2
1 . 3 , -1 2
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) =" Condl =| Sin(a.) =—" |, Cond2 =| Cos(B) =7
No3 = 3 4 . Nod = 3 3
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
.3=Tan(B) .4=Sin(a - B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa+B) .6=Tan(f—a) S=Cos(aa—P) .6=Tan(a+p)
L 7=Cos(2B) .8=Tan(2a) ] L 7=Sin(20)  .8=Tan(2p) |
M
No5 =[Cond = (Cos(68°) = 0.375), Question = Cos(34°)], ,| U
T
M
No6 = [ Cond = (Cos(40°) = 0.766 ), Question = Sin(20°)], ,| U
T
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TrigonometryExercise4 for No.10914

_ N
.1 =Sin(75°) 2= Cos[—)
12

2 2
.1 =Cos(15°) - Sin(15°)

T b
3=2 SinE—J Cos(—)
12 12

197
.3=Tan(105°) .4=Cot| —
Nol = 12 No2 =
o= 177) V97 =|.5=Cos(12°) Cos(33%) — Sin(12°) Sin(33°)
.5=Sin(345°) .6 =Tan| "

.7=Cos((-75)°)

No3 =

X [Page = 0019]

13=«
.8 = Sec
12 J |

.7 = Sin(42°) Cos(12°) — Cos(42°) Sin(12°)

i 2
9=2 COSL_] -1
L 8

A0= Sin(

2
2=1-2Sin(22.5°)

Tan| — |+ Tan| —
15 15

B 47 i
1 —Tan| — | Tan| —
15 15

2 Tan(22.5°)

2
1 — Tan(22.5%)
Tan(80°) — Tan(20°)

)

1+ Tan(80°) Tan(20°

5w T S5n
— | Cos| — |+ Cos| ——
12 12 12

[ b3 375} ] [ [ b3 3w }
A=0,B=—C=n,D="— A=—B=n,C=—"—D=2n
2 2 2 2
[ ={coar= g contz=(smpr ]| [ comar={smcer= ] comz = o
Condl =| Cos(at) =~ |, Cond2 =| Sin(B)=—" Condl =| Sin(a) =~ |, Cond2 =| Cos(B) =7
5 4 . Nod= 8 2
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(B)
.3 =Tan(P) 4=Sin(f-a) 3 =Tan(P) 4=Sin(B-a)
S=Cos(aa—P) .6=Tan(a+p) S5=Cos(aa—B) .6=Tan(a+ )
L .7=Cos(2 B) .8=Tan(2 a) ] L .7=Cos(2B) .8=Tan(2 o)
M
No5 = [ Cond = (Cos(50°) = 0.643), Question = Cos(25°)], ,| U
T
M
No6 = [ Cond = (Cos(22°) = 0.927), Question = Sin(11°)], ,| U
T
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TrigonometryExercise4 for No.10945

)
i
P
B 2 2 4
2 T [ m S
.1=2Co0s(22.5%) -1 2= Cos(—) - SlnE—J
~ _ 12 12 LL S ]
n
_gin & _ 0 2 2 2 Tan(15° &
1= Sm( 12) 2= Cos(105) 3= Sin(Tn] Cos[%} - COS(TTE] Sin[%} :—an( )2 [T ]
3=Tan(75°)  .4=S ( 5“] I = Tan(15°) a
.3=Tan 4=Sec| ——— 2
Nol = 12 )| No2 = 5=2 Sin(ﬁj COS(EJ 6=1-2Sin(15°) S !
13w 8 8 h
.5 =Cos(165°) .6 = Cot 191 - 19 - @
12 .7 =Cos(30°) Cos(15°) — Sin(30°) Sin(15°) .8 = Cos( jCos(—J+ sm(—) sm(—j by
L.7=Sin((-195)°) .8=Csc((-345)")] 60 15 60 15
Tan(72°) — Tan(12°) Tan(5°) + Tan(25°) U
9— - T
L 1 + Tan(72°) Tan(12°) 1 —Tan(5°) Tan(25°) ] o ) N
o(
2
- - - - - ..( -
[ b T } [ 3w 3 n}
A4=0,B=— C=—D=n A="—B=2nC=n,D=""
2 2 2 2
4 . 2 . 1 2
[Condl = [Cos(a) :—j, Cond?2 = (Sm(B) :—H [Condl = [Sm((x) :—j, Cond?2 = (COS(B) :—H
No3 = 9 T Nog= 3 3
.1 =Sin(a) 2= Cos(p) .1 =Cos(a) 2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) 4 =Sin(a - B)
S5=Cos(aa—B) .6=Tan(a+ ) S=Cos(aa+P) .6=Tan(f—-0a)
i 7=Cos(2B)  .8=Tan(2a) ] i 7=Sin(2a)  .8=Tan(2p) ]
M
No5 =[Cond = (Cos(74°) = 0.276), Question = Cos(37°)], ,| U
T
M
No6 = [ Cond = (Cos(10°) = 0.985), Question = Sin(5°)], ,| U
T
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TrigonometryExercise4 for No.10954

)
G
- - P
(1ln T Ilin) (= . 02
.1 =Sin| Cos| — |- Cos| Sin| — .2=1-28in(22.5°) v
36 18 36 18 S
r n 7 2Tan(%] -- i--
. o T T
A= SIH(EJ 2= COS(75 ) 3=2 Sln(gj Cos(gj 4 :—n2 ——M——
3=Tan(105°) 4=T ( 19“) I_Tan[ﬁj “
Nol=| =~ an( ) 4=Tan - 12 )|, No2 = o o o 5 \ , t
N 52 Tan(12°) + Tan(33") 5o Tan(70%) — Tan(10") h
.5 =Cot((-165)") -62005(—EJ " 1-Tan(12°) Tan(33°) 1+ Tan(70°) Tan(10°) @
2 2
(e} : o M
— - = - 2
|.7=Csc((-195)°) .8 =Sin((-255)°) .7:005(1j —Sin(lj 82 Cos(15°) — 1 U
12 12 T
T T T T .
.9=Cos(10°) Cos(50°) — Sin(10°) Sin(50°)  .10= Sin(g] Cos[g] + COS(E] Sin(g] :)
L i o
)
- - - - - :( -
[ b b1 } [ 3n 3w }
A=0,B=—",C=",D=n A=n,B=—"",C=—",D=2n
2 2 2 2
, 1 3 5 . 5
[Cond] = (Sm(a) :—j, Cond?2 = [COS(B) :—H [Cond] = (Cos(on) :—), Cond?2 = (Sm(ﬁ) :—H
No3 = 2 771 No4= 7 6
.1=Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a - B) 3 =Tan(a) 4=Sin(f-a)
S=Cos(p—a) .6=Tan(a+ ) S5=Cos(aa+f) .6=Tan(a—B)
L .7=Cos(2 o) 8=Tan(2B) J L .7=Sin(2 a) .8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(80°) = 0.174), Question = Sin(40°)], ,| U
T
M
No6 =[ Cond = (Cos(30°) = 0.866), Question = Cos(15°)], ,| U
T
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TrigonometryExercise4 for No.10966

.1 =Cos(75°)

b1
3= Tan(—j
12

.5=Cos((-105)°)

Nol =

.7=Cot((-15)°)

No3 =

X [Page = 0022]

],NOZ—

[A 0,B=

2’
{Condl = [Cos(a) = éj

.1 =Sin(a)
.3=Tan(pB)
5=Cos(a+B)
.7=Cos(2B)

No5 =

No6 =

2
b1

=2 Cos[—j -1
12

.3=Cos(22.5°) —Sin(22.5° )

el
)
" (30] Tan(lnS]

i
2 Tan| —
8

2
b1
1 —Tan| —
8

2=

4=Cos(72°) Cos(12°) + Sin(72°) Sin( 12°)

2
6=1-2Sin(15°)

oo

1+ Tan| — | Tan| —
30 15

9= Cos(15°) Cos(75°) — Sin(15°) Sin(75°)

Cond2 =

VD

) 3
a1

.2=Cos(PB)
4 =Sin(a - B)
LH=Tan(f—a)

8=Tan(2 o)

, No4 =

[Condl [Sm((x)— jCondZ (COS(B):%):'

|

.1 =Cos(a) .2=Sin(B)
.3 =Tan(a) 4=Sin(a +B)
S=Cos(aa—P) .6=Tan(f—-0a)
.7=Sin(2 a) .8=Tan(2 ) ]
M
T
M

.10 =Sin(60°) Cos(15°) — Cos(60°) Sin(15°)

3n
A:—B 2
2

[ Cond = (Cos(64°) = 0.438), Question = Sin(32°)], ,| U

T

37

n,C=n,D=—" }
2

[ Cond = (Cos(86°) =0.070), Question = Cos(43°)], ,| U
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TrigonometryExercise4 for No.11154

TE ] —
Sin(—J
18

) 2 (T= b Tm
.1=1-28in(22.5%) 2= Sm[—j Cos(—) + Cos(—
6 18 6

3 3
Tan| — |- Tan| —
5 15

Ne——

)
o
P
V
S
i Tr 7T B o 11n K3 ) (m LS ]
'IZCOS[EJ 2=Sin(15%) 3= Py - .4 = Sin| 18 Cos| 9 — Cos| s Sin 9 &
1+ Tan| — | Tan| —— T
5n 231 5 15
.3:Tanz .4 =Tan| ” (n P . . ) o . a
Nol = o | No2 = .5=2Sin g Cos| E .6 =Cos(10”) Cos(80”) — Sin(10”) Sin(80") i . ¢
.5=Cos((-285)%) .6:Cot(— ] h
2 Tan| — @
137 12 o o : o : o M
.7=Csc((-345)°) .8=Sin| — " TE .8 =Cos(50”) Cos(20”) + Sin(50") Sin(20") U
L i T
1 —Tan| ——
an(lzj LTl
2 2 2)
T T 2 Z
.9:Cos£—J —Sinl—] 10=2Cos(15°) -1 o
L 12 12 J
)
L
T 3n 3n T
A=0,B=—,C=—",D=2n A=n,B=—",C=—,D=n
2 2 2 2
. 4 1 . -5 -3
Condl =| Sin(at) == |, Cond2 =| Cos(B) ="~ Condl =| Sin(at) =— |, Cond2 =| Cos() ="
No3 = 3 611 Noa= / 3
.1 =Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3=Tan(a) 4=Sin(a +B)
S5=Cos(aa—fB) .6=Tan(a+ ) S=Cos(p—-a) .6=Tan(a—p)
L .7=Cos(2 o) 8=Tan(2B) ] L .7=Cos(2B) S=Tan(2 o) ]
M
No5 = [ Cond = (Cos(18°) =0.951), Question = Cos(9°)], ,| U
T
M
No6 = [ Cond = (Cos(50°) = 0.643), Question = Sin(25°)], ,| U
T
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TrigonometryExercise4 for No.11191

2
b b P
Tan[—J - Tan(—J
3 12 _ _ 4
= .2 = Sin(85°) Cos(25°) — Cos(85°) Sin(25°) S
T T
- _ 1+ Tan(—J Tan(—J LL S 1]
n ' . 12 &
A =Cos| -2=Sin(157) .3=Cos(70°) Cos(20°) — Sin(70°) Sin(20°) .4 = Cos(100°) Cos( 10°) + Sin( 100°) Sin( 10°) T
3=Tan(75°)  .4=Cos(345%) Tan[ﬂ - Tan 5_“J > Tanl = a
Nol = 197 oo No2 = _ 9 36 ,—8 ) ) t
.5=Cot = .6 =Sec((-165)°) = N S 6= > A
1- Tan(—] Tan(—J 1 — Tan T
(1l 177 9 36 3 @
.7 =Sin .8 =Tan| M
L 12 12 ) | T T 2 2
.7=2Sin| — | Cos| = .8=Cos(15°) —Sin(15%) U
12 12 T
) LL T 1]
. 02 T 2)
.9=1-2Sin(22.5") .10=2COS(§J -1 —(
)
L
I 3n 3n b
A4=0,B=— C=—,D=21 A=n,B=—,C=—D=n
2 2 2 2
. 4 3 . -4 -5
Condl =| Sin(at) =7 |, Cond2 =| Cos(B) =" Condl =| Sin(at) =— |, Cond2 =| Cos()="
No3 = 9 4 . Nod = 7 6
.1 =Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3=Tan(a) 4=Sin(a +B)
S5=Cos(aa—fB) .6=Tan(a+ ) S=Cos(p—-a) .6=Tan(a—p)
L 7=Sin(2B) .8=Tan(2a) ] L 7=Sin(2p) .§=Tan(2a) ]
M
No5 = [ Cond = (Cos(20°) = 0.940), Question = Cos(10°)], ,| U
T
M
No6 = [ Cond = (Cos(44°) = 0.719), Question = Sin(22°)], ,| U
T
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TrigonometryExercise4 for No.11309

)
T P
= 2Sln[8JCos(8] .2=Sin(42°) Cos(12°) — Cos(42°) Sin(12°) v
2 2 2 S
.3=Co0s(22.5°) —Sin(22.5%) 4=2Cos(15%) -1 s
[ E 1 T _11 n T L __&__
'IZCOS(E] -2 = Sin(15%) 36 )7 s sn x TAMIE: SR
S= .6=Sin| — | Cos| —— |+ Cos| —— | Sin| —— M
3=Tan(75°)  .4=Tan(195%) 1+Tan(11n Tan(_) 18 18 18 18 a
Nol = (23n 137 )|, No2 = 18 , , t
5 = Sin| 6 =Csc| — h
T o o : o : o
. 23 1t =1 —ZSm[Ej .8=Cos(102") Cos(12”) + Sin(102°) Sin(127) @
.7=Sec((-75)") .8=Cot] M
L 12 /] T T
2 Tan( j Tan[—j + Tan(—j U
8 B 18 9 T
) el ) :
1-T — Tan| — | Tan| — 4
| an g 18 9 | o
2
- - - - - :( -
[ b3 375} [ 3w b }
A=0,B=—C=n,D="— A=—B=2mnC=—D=n
2 2 2 2
, 4 3 5 : 1
[Cond] = (Sm(a) :—J, Cond?2 = (COS(B) = —H [Cond[ = (Cos((x) :—), Cond?2 = (Sm(ﬁ) :—H
No3 = 7 50 No4= 8 3
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(P) 4 =Sin(a - B) 3 =Tan(a) .4 =Sin(a - )
S=Cos(aa+P) .6=Tan(f—-0a) S5=Cos(aa+B) .6=Tan(f—-a)
L .7=Cos(2 ) .§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(76°) = 0.242), Question = Cos(38°)], ,| U
T
M
No6 =[ Cond = (Cos(18°) =0.951), Question = Sin(9°)], ,| U
T
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TrigonometryExercise4 for No.12483

2
i
- _ P
. 0.2 (m T %
1 =1-2Sin(15") 2 =2 Sin| — | Cos| —
8 8 S
B _ Tan(25°) + Tan(20°) n n NEATNE: LLS 1]
P 3= 4=Cos| — |Cos| 7 |- Sin| — | Sin| —— &
1 =Cos| — .2=Sin(75%) 1 — Tan(25") Tan(20°) 9 18 9 18 &
o 5=2C 225"2 1 6=C [4EJC (nj Si (4EJS'(EJ "
= ° = - ° JS= . - = — — |+ — —
.3=Tan(105°) .4 =Sec((-195)%) os( ) os| 7y | Cos{ in| =5 ) Sin{ a
Nol = 5.C 117 6 Cos( 345° , No2 = 55 1 55 Y , t
.5 =Cot - .6 = Cos( ) .7 =8Sin(20°) Cos(40°) + Cos(20°) Sin(40°) 8_SIH(E] Cos(;)—Cos(l—] Sln(gj h
(13 . - @
7=Sin| = .8=Tan(165°) 2Tan(—] i i M
- - 12 b (= U
Y= .10=Cos| —— | —Sin| —
- 12 12 LL T 1]
l—Tan[—j 2)
L 12 ] a
o
2
L
b3 3w 3w b
A=0,B=—C=n,D="—" A=—B=2mnC=—D=n
2 2 2 2
. 1 -1 4 . 5
Condl =| Sin(a) =~ |, Cond2 =| Cos(B)=—" Condl =| Cos(a) =~ |, Cond2 =| Sin(B) ="~
No3 = 5 611 No4= 5 6
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) 4=Sin(B-a)
S=Cos(aa—P) .6=Tan(a+p) S5=Cos(aa+B) .6=Tan(a—)
L .7=Sin(2 B) S=Tan(2 a) J L .7=Cos(2 a) .8=Tan(2 P) |
M
No5 = [ Cond = (Cos(64°) = 0.438), Question = Sin(32°)], ,| U
T
M
No6 =[ Cond = (Cos(12°) = 0.978), Question = Cos(6°)], ,| U
T
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TrigonometryExercise4 for No.12557

Nol =

.5 =Sec(19

.7:Csc[

12

B 2
T 2
.]=2COS(E] -1 .2=1-28in(15°%)
2 2
_ b1 I
5w . o .3=2Sin(22.5°) Cos(22.5°) 4= Cos(—j - Sin(—j
- .2=Sin(105") 8 8
I1n T (llm) (= . ° o oy o
13n 5= Cos( ] COSL_J - Sm( J Sm(—] .6 =Sin(25") Cos(35”) + Cos(25”) Sin(35")
.4 =Tan| — 60 15 60 15
12 )| No2=
° =Si © Tan( 1 n] - Tan[lj
) -6=Sin((-165)) (Tn b1 Tn) (=« 60 15
n 23n .7=Sin| — | Cos| = |- Cos| —— | Sin| —— 8=
.8 = Cos| 36 36 36 36 [19 nj [ n j
12 J | 1 + Tan| Tan| —
60 15
Tan(10°) + Tan(20°) 10 2 Tan(15°)
~ 1 Tan(10°) Tan(20°) o Tan(15)
i b b ] i 3n 3n
A=0,B=—C=—D=n A=—B=2nC=nD="—"—
2 2 2 2
. 1 -1 5 . -1
Condl =| Sin(at) =7 |, Cond2 =| Cos(B)=—" Condl =| Cos(at) =~ |, Cond2 =| Sin(B)=—"
No3 = 2 4 |, Nod = 6 6
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
.3=Tan(B) .4 =Sin(a + B) 3 =Tan(a) 4=Sin(B-a)
S=Cos(aa—fB) .6=Tan(f—a) S5=Cos(ac+f) .6=Tan(a—)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[Cond = (Cos(6°) =0.995), Question = Cos(3°)], ,| U
T
M
No6 = [ Cond = (Cos(44°) = 0.719), Question = Sin(22°)], ,| U
T
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TrigonometryExercise4 for No.12637

X

)
e
i 2 T P
T
1 =2Sin(15°) Cos(15°) 2=1-2 Sin(—J v
12 S
~ _ 2 2 b ’ LL S 1]
n .3=Cos(22.5°) —Sin(22.5°%) 4=2Cos| —| -1 &
.1 =Sin I .2=Cos(75°) 8 &
n sn) (=) (5= Tan(48°) + Tan(12°) M
.3=Tan(105°) .4 =Csc((-345)°) .5=Cos g Cos| ? — Sin ; Sin z :1 Ton( 48°) Tan( 12° a
Nol = 17 b No2= — Tan(48") Tan(127) e
.5 =Cot| — .6 =Sec(345%) T h
12 2 Tan| —
177 I (17w} (= 12 @
_ In T L .7=Cos| Cos| — |+ Sin| Sin| — =—"""
.7=Cos| — .8=Sin| — 30 15 30 15 2 M
L 12 12) | ( T J
1—Tan| — U
12 T
Tan(60°) — Tan(15°) o . o\ @it 10 o
9= .10 =Sin(18”) Cos(12”) + Cos(18”) Sin(127) A
L 1 + Tan(60°) Tan(15°) | o
)
L
T 3n 3w b
A=0,B=—C=n,D="—" A=—B=2mnC=—D=n
2 2 2 2
. 4 -4 . -1 -2
Condl =| Sin(a) =~ |, Cond2 =| Cos(B)="" Condl =| Sin(a) =— |, Cond2 =| Cos(B) ="
No3 = 5 911 No4= 2 5
.1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
3 =Tan(a) 4 =Sin(a - B) 3 =Tan(P) 4=Sin(f-a)
S5=Cos(aa+fB) .6=Tan(f—-a) S5=Cos(aa—B) .6=Tan(a+ )
L .7=Sin(2 B) 8=Tan(2 o) ] L .7=Cos(2 ) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(20°) = 0.940), Question = Cos(10°)], ,| U
T
M
No6 = [ Cond = (Cos(86°) = 0.070), Question = Sin(43°)], ,| U
T
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TrigonometryExercise4 for No.12689

_ 9 _
e
~ _ P
2 2
.1 =S8in(70°) Cos(10°) — Cos(70°) Sin(10°) .2=Cos(22.5°) —Sin(22.5°%) v
0 08 s 1mO0n o 2 Tan(15°) S
r T 7 .3=Cos(12?) Cos(33°) — Sin(12°) Sin(33°) A=—"7 LLS 1]
i :Sin(Ej .2=Cos(105°) 1 — Tan(15%) &
. 5 Tan(60°) — Tan(15°) s_c (7njc (n] S; (7an' [n) ([ m]]
2T o S= 6= - — |+ - —
.3:Tan( 12} .4 =Csc(345%) 1 + Tan(60°) Tan(15%) 0s| 36 0| 36 in 36 in 36 u
Nol = 13 , No2 = An n > > t
5:C0s(— ) .6 =Sin((-105)%) Tan(g]”an(g h
12 _ o] T
= .8=2Sin Cos @
7=C t[ 23“) 8§ = Tan((-165)° 1—Tan(4—n]Tan(l] 12 M
/=Gt =T, ) 8= Tan((-165))] 15 15 U
T ’ 2 LL T 1]
.9=1-2Sin E 10=2Cos(15°) —1 2
L ] :(
2
L
b3 3w 3w b
A=0,B=—C=n,D=—" A=—B=2mnC=—D=n
2 2 2 2
) 1 -3 4 . 1
Condl =| Sin(a.) =7 |, Cond2 =| Cos(B) =" Condl =| Cos(at) =~ |, Cond2 =| Sin(B) =7
No3 = 3 7)1 Nod= 5 2
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(P) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a + )
S=Cos(aa—P) .6=Tan(a+p) S=Cos(p-a) .6=Tan(a—p)
L .7=Cos(2B) .8=Tan(2 a) ] L .7=Cos(2 a) 8=Tan(2 B) ]
M
No5 =[Cond = (Cos(18°) =0.951), Question = Sin(9°)], ,| U
T
M
No6 =[ Cond = (Cos(50°) = 0.643), Question = Cos(25°)], ,| U
T
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TrigonometryExercised4 for No.13349

b
2 Tan[—j
12 L

2
| ’ ’ Tan(42°) — Tan(12°) | «(
T T an — lan rr 7
.]:COS(_] —Sin(-J 2= P
8 8 1 + Tan(42°) Tan(12°) v
&)l :
Tan| — |+ Tan| —
_ _ 15 10 , . . LLs ]
5 3= 4=2Sin(22.5%) Cos(22.5°) &
1= Cos| .2 =Sin(105°) 1—Tan£1J Tan(g] &
15 10 M
3= Tan(15°%) 4—Tan(l3 n] g “
D= a4 = T 2
Nol = 12 ) | No2= .5:1—2311{—] 6=2Cos(15°) —1 . !
197 12 h
.5=Cos((-165)°) .6=Cot| ——— p 4r p A1 @
12 .7 =Sin(50°) Cos(10°) + Cos(50°) Sin(10°) .8 = Cos| — | Cos| — | - Sin| — | Sin| — Y,
| 7=0Cse(165°) .8 = Sec((-345)°). 18 9 18 9 y
T
J
o
:)
o

.9 = Sin(85°) Cos(25°) — Cos(85°) Sin(25°) 10= 5
1—Tan(l]
L 12 J
[ [ b3 375} ] [ [ 3w b } i _ _
A=0,B=—C=n,D="— A=—B=2mnC=—D=n
2 2 2 2
[Cond] = (Cos(on) = lj Cond?2 = (Sin(B) = ln [Cond] = (Cos((x) :g), Cond?2 = (Sin(ﬁ) :ln
No3 = 3 611 No4 = 3 2
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(PB)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) .4 =Sin(a - )
S=Cos(au+p) .6=Tan(a—P) S=Cos(p-a) .6=Tan(a+p)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Cos(2 a) .8=Tan(2 P) ]
M
No5 = [ Cond = (Cos(64°) = 0.438), Question = Sin(32°)], ,| U
T
M
No6 =[ Cond = (Cos(22°) = 0.927), Question = Cos(11°)], ,| U
T
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TrigonometryExercise4 for No.13519

Nol =

L .7=Tan(195°)

No3 =

X [Page = 0031]

.2=Cos(105%)

4=Sec(165°)

6= Cos(—

.8=Csc(345%)

, No2 =

117:)
12

b 37
[A:O,B:E,C:Tt,Dz—}

[ Condl = (Sin(a) = %j Cond2 = (COS( B)= ;4”

.1 =Cos(a)
3 =Tan(P)
.5 =Cos(a+B)
.7=Cos(2B)

No5 = [ Cond = (Cos(42°) = 0.743), Question = Cos(21°)], ,

No6 = [ Cond = (Cos(62°) = 0.469), Question = Sin(31°)], ,

B

2
5=2Cos(15°) -1

9= Cos(—
8

2

.2=Sin(B)
4 =Sin(a - B)
b6=Tan(f - o)

.8=Tan(2 a)

2
r
;)

, No4 =

17
.1 =Cos(35%) Cos(5°) + Sin(35°) Sin(5°)  .2= sm(

S5n b
3= COS[_] Cos[—
36 36

.7 =Sin(33°) Cos(12°) + Cos(33°) Sin(12°)

o

36

0
36

s
2 Tan(—j
_ \&

2
b

1 —Tan| —
8

tol5)- 1ol )

6=
s b1
1+ Tan| — | Tan| —
3 12

.8=2Sin(22.5%) Cos(22.5°)

i 2
A0=1-2 Sinl—j
12

37 b
A=—"B=2n,C=—",D=n
2 2

[Cond] = (COS( o) = 2) Cond2 = (sm( B)= %M

.1 =Sin(a)
3 =Tan(a)
5 =Cos(a+B)
.7=Cos(2B)
M
U
T

M
U
T

.2=Cos(PB)
.4 =Sin(a - )
H=Tan(f-a)

S=Tan(2 o)

17 nj ) (
Sin|
36

Sm

36

;
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TrigonometryExercised4 for No.14276

oy
i
_ P
T T
TanE—) - Tan(—) v
o I . o . o 18 18 S
.1 =Cos(18") Cos(12”) — Sin(18") Sin(12%) 2=
r - g T LL S 1]
. o I 1+ Tan(—j Tanl—j &
.1=Sin(75%) 2=Cos 75 18 18 &
e 4n ) (4 2 Tan(15%) M
3—Tan(7—nj 4—Tan(11 “j .3=Sin E Cos| T + Cos E Sin T A=—""" a
Nol=| =~ 12 T 12 ) |, No2= 1 — Tan(15°) A t
. o o 2
S =Sin((-15)") .6=Csc((-345)") 5=2Cos(22.5%) -1 .6 = Cos(50°) Cos(20°) + Sin(50°) Sin(20°) é
13n 2 2
= - = ° T T
7 COS[ 12 J §=Sec(3457) | .7:COS(_] —Sin(—) .8=2Sin(15%) Cos(15°) M
12 12 U
2 T
T T T Y T == ==
9= Sin[—J Cos(—j - Cos[—] Sin(—J A0=1-2 Sin[—J )
L 3 12 3 12 8 ] 2
:(
2
L o
[ b i } [ 37 37 }
A=0,B=—,C=—,D=n A=mn,B=—"—,C=—",D=2n
2 2 2 2

{Cond] = [Sin( o) = 3 Cond?2 = (COS( B)= ;ZH [Cond] = (Sin(a) = 72) Cond2 = (COS( B)= EH

No3 = , ,Nod=

.1 =Cos(a) .2=Sin(PB) .1 =Cos(a) .2 =Sin(P)
.3=Tan(B) 4=Sin(f-a) 3 =Tan(P) 4 =Sin(a + )
S=Cos(aa—B) .6=Tan(a+f) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Cos(2 a) .§=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(56°) = 0.559), Question = Sin(28°)], ,| U
T
M
No6 =[ Cond = (Cos(14°) = 0.970), Question = Cos(7°)], ,| U
T
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TrigonometryExercise4 for No.14380

.1 =Cos(105°)
.3=Tan(75%)
197
.5 =Csc¢|
12

.7 = Sec(255%)

Nol =

No3 =

X [Page = 0033]

- -
2= Sin(—]
12

4=Cot((-345)°)

47
9 18

i 2
3=2 Cos[—J -1
8

2 2
.5=Cos(22.5°) - Sin(22.5°)

18

b i
4=2 Sin(—] Cos[—
12 12

i b1 T 4
= Sin(_) COS[_] + Cos[—J Sin[T] .2=Cos(100°) Cos(10°) + Sin(100°) Sin(10°)

)

.6 =Sin(70°) Cos(10°) — Cos(70°) Sin(10°)

8= Sin(—

2n I
Tan| — |- Tan| —
Tn) |, No2= 9 18
.6 = Tan| _E 7=

7=
27
1+ Tan| —
9

b
Tan(—J
18

{Cond] = [Sin(q) :a Cond?2 = (COS( B) :%H

.1 =Cos(a) .2=Sin(P)
3 =Tan(a) 4=Sin(f-a)
S5=Cos(aa—fB) .6=Tan(a+ )
L .7=Cos(2 o) 8=Tan(2B)

177:]

Tan| — |+ Tan| —

12 6

B b b
1- Tan(—j Tan(—J

12 6

i { i 3n } |
A=0,B=—",C=—",D=2n
2 2

, ,No4=

2
.8=1-2Sin(15°)

0= 5
b
1 —Tan| —
12 i
b 31
A=",B=n,C=n,D=—""
2 2

[Cond] = [COS(OL) = 73] Cond?2 = [Sin(ﬁ) = ;SH

No5 = [ Cond = (Cos(32°) = 0.848), Question = Cos(16°)], ,| U

.1 =Sin(a) .2=Cos(p)
3 =Tan(P) 4=Sin(f-a)
S=Cos(aa—P) .6=Tan(a+p)
L .7=Sin(2 a) .8=Tan(2 ) ]
M
T
M

No6 = [ Cond = (Cos(56°) = 0.559), Question = Sin(28°)], ,| U

T
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TrigonometryExercised4 for No.14393

J
Tn T
Tan(—J - TanL—J P
30 15 2=1-28in(22.5° ’ 4
= (7 W] ( i ] .2=1-28in(22.57) S
1+ Tan| —— | Tan| — S
r 72) ] 30 15 o & o
.1 =Cos(75°%) 2= Sin[—] 2 Tan(15°%) 2 K
12 B 4=2Cos(15°) —1 M
.3=Tan(15°) .4=Csc((-285)°) 1 — Tan(15°) a
Nol = 9n ) n ) |, No2= T 5m , , t
.5 =Tan .6=Sin| - — Tan| — |+ Tan| —— h
12 12 9 36 T 2n (m) (2=
1 S= e .6:Cos; CosT—Sm; SmT @
7=Sec((-75)°) 8= CO{ 12 J 1- Tan(EJ Tan(—nj M
- - 9 36 U
2 2
[ m b b N LL T 1]
7=2 Sln(—j Cos[—j 8= Cos(—] - Sm[—J .
12 12 8 8 )
L.9=Sin(5°) Cos(25°) + Cos(5°) Sin(25°) .10 =Sin(110°) Cos(20°) — Cos(110°) Sin(20°) o
2
L (0
[ b b1 } [ 3n 3w }
A=0,B=—C=—D=n A=n,B=—C=—D=21
2 2 2 2
. 1 2 -4 . -1
Condl =| Sin(a) =7 |, Cond2 =| Cos(B)="" Condl =| Cos(at) =", Cond2 =| Sin(B) ="
No3 = 2 30 No4= 5 2
.1=Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a - )
S5=Cos(aa+fB) .6=Tan(a—B) S=Cos(p-a) .6=Tan(a+p)
L .7=Sin(2 o) 8=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) i
M
No5 =[Cond = (Cos(68°) = 0.375), Question = Cos(34°)], ,| U
T
M
No6 = [ Cond = (Cos(10°) = 0.985), Question = Sin(5°)], ,| U
T
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TrigonometryExercise4 for No.14417

i T
= Sin(—]
12

2
3=Tan(75°)  .4=Sec((-105)°) ~5:C08[Tn
Nol = 23n 0. | No2=
45:Csc(—7] .6=Cos(165%)
( llnj [ 51:)
.7 =Tan| — .8=Sin| -——
L 12 12 ) ]
e }
A=0,B=—,C=—"",D=2n
2
o= coter =3} comz = s -
Condl =| Cos(a) =" |, Cond2 =| Sin(B) ="
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.1 =Sin(a) .2=Cos(B)
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